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1 Choose the best answer from the given options:The sentence that states the main idea is
called.

A. Main idea of paragraph
B. Topic of paragraph
C. Topic sentence
D. Supporting details

2
Read the cause in the given situation and choose the effect.We had a tremendous
snowstorm during the night.Winds gusted to 45 mph.The roads are blocked, even at the bus
stop.

A. We decided to make a snowman
B. We were not able to go to school
C. We stayed inside and made hot
chocolate
D. We went to the store to get some
snacks

3 Click on the option that you think is correct.Marijuana is less toxic than alcohol or
tobacco.Because, some people believe it should be legalized.

A. Therefore
B. Because
C. So
D. And

4 Indicate the correct form of verb in the sentence given below.The population has increased
by 6% since 1970.

A. Present
B. Infinitive
C. -ing
D. -ed

5 Complete the sentence by choosing the best option.We are planning to go to either Spain or
France during the holidays.

A. either…nor
B. either…or
C. neither…and
D. both…nor

6 Which one of these means 'a vehicle for carrying a coffin’.
A. Hernia
B. Hearse
C. Heron
D. Hearsay

7
Choose the best meaning for the word underlined. A provocative question can be an
effective way to open an essay.Students have begun essays with such interesting questions
as,"What do you think your name means?" and "How long do you think it would take you to
count to one billion?"

A. arousing interest
B. very brief
C. Unanswerable
D. Funny

8 Fill in the blank with appropriate parallel structure.Egyptian pyramids were regularly robbed
despite their intricate passageways, Byzantine mazes, and __________.

A. Walls of falsity
B. Walls which were false
C. False walls
D. They had false walls

9
What is true of the following example?The expanding economy of the 1920s created new
freedom for young people, who began to break away from their families and live on their
own.

A. It contains no dependent clause
B. It contains an adverbial clause
C. It contains a noun clause
D. It contains a relative clause

10 What is true of the following example?If society as a whole cannot be rejuvenated, the
individual needs to work for personal certainty.

A. It contains an appositive phrase
B. It contains an adjectival clause
C. It contains an adverbial clause
D. It contains a noun clause.


